1 | 2 3 | L 5 6 7 8
Max pc. 2 cable entries @
A 5 ? ? A
q z p
B Hexagonal head screw driver @ ;Q @' B
P/N 6103 600 0021 OGN n 03
for hexagonal head screw w i
max torque=0,5Nm 05
B | € B
572 T - 04
14 8 470 .
N | ' Internal grounding block |
53,0 (optional)
C ring Knurled head C
2- oo | E- o, J% :‘ 2~ o :‘ 2~
I I | Dim B Dim B @ For strain relief an additional InduCom cable clamp or a crimp flange and
ferrule combination depending on the cable is necessary
M3 L-40 UNC Identification on - Identification on
; S ! locking screw = locking screw Content InduCom hood Spare parts (M0Q100) 0
| Pos. Quantity |Description Part Number Quantity
01 1 metal hood
Y3 Y=0 Y= Y=2 02 1 metal cover
M3x 16.8 4-40 UNC x 16.8 M3 x 11,6 +-40 UNC x 11,6 03 1 [blank piece (not assembled) 6103 000 0042 1
04 2 locking screw (assembled):
either knurled thumb screws 4-40 UNC (for 0117) 0967 002 9018 1
or hexagonal M3 with captive washer (for 111) 0967 002 9019 1
or hexagonal 4-40 UNC with captive washer (for 2117) 0967 002 9020 1
g LIERUR I RTY knurled thumb M3 (for 3117) 0967 002 9017 1 ;
or knur mb screws or
6103 001 0117 | 4-40 UNC Knurled thumb screw Without ring Z SR ( cte o —
6103 001 1117 M3 Hexagonal screw with captive washer| 1 & Knurled head o _ 05 1 grounding SCrew {not assembied) Tor version wirh internd 0963 002 0007 1
<103 001 2117 oo In l Tr— - 3 With internal grounding block grounding block
. £x3gond’ SCTeW WITh caprive wasner . 06 L |cover screw M2,5 with philips head (not losable in cover)  |0963 002 0006 1
L1 6103 001 3117 M3 Knurled thumb screw With ring i omeneoe o 1 St TFree s ol ”~ |
6103 001 0117 010 | &-40 UNC Knurled thumb screw Without ring 6’@% Original Size DIN A3 | 1:1 Sub.
6103 001 1117 010 M3 Hexagonal screw with captive washer| 1 & Knurled head Without internal grounding gmmng | Al rights reserved %Erﬁﬁanfed by lLTJBEem by %;;E%ardisafion [ZJS; s ?fafleRl
6103 001 2117 010 | 4-40 UNC |Hexagonal screw with captive washer 3 block w Department €L pp - inal ne‘ease
. . Title Doc-Key / ECM-Nr.
¢ | 6103 001 3117 010 M3 Knurled thumb screw With ring o InduCom 25P Basy access hood assemb[y mesezis/ G0/ | p
Dim B Identification for \ Troe Nommer ™~ Page
Part Number screw size Screw type locking screw Internal grounding block 0-32339 Espelkanp T8 6103001Y117 A yp
1 | 2 | 3 | L 5 6 | ? | 8

A3



